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Instructions:

There are 15 multiple choice questions each worth 2 points for a total of 30 points.  Please pick the best answer from the choices available.  There are also 14 short answer questions worth 5 points each for a total of 70 points.  Use as much space as needed to complete your answers of the short answers.  However, your answers should be a few words, a single sentence, or a short paragraph.  Make sure your answers are complete as written without reference to non-included material.

Multiple Choice Questions:

1 – What type(s) of information is available in Public Pair?
A – Office Actions

B – Responses to Office Actions

C – A & B

D – None of the above

2 – Under US law, a claim ordinarily cannot be entirely defined by reference to the specification.
A – True

B – False

3, 4 & 5 –A claim of the patent has the following elements:

W;

X; 

Y; and

Z

3 – If the preamble is “comprising”, does an invention with V, W, X, Y, and Z infringe the claim?
A – Yes

B – No

C – Maybe

4 – If the preamble is “consisting of”, does an invention with X, Y, and Z, infringe the claim?
A – Yes

B – No

C – Maybe

5 – If the preamble is “consisting essentially of”, does an invention with W, X, Y, Z, and V infringe the claim?
A – Yes

B – No

C – Maybe

6 – A dependent claim can be broader than the claim on which it depends?
A – Yes

B – No

C – Maybe

7 – Does a joint inventor need permission from a co-inventor to license the patent application?
A – Yes, unless there is a different agreement among the inventors
B – Yes, unless the co-inventor is deceased

C – No, unless the co-inventor is an inventor (or co-inventor) of the claim being licensed.

D – None of the above

8 – Can a patent that was considered by the examiner during patent prosecution raise a substantial new question of patentability?
A – Yes

B - No

9 – A written description violation may occur when
A – The claims are too broad

B – The claims contain new matter not described in the application as filed

C – A & B

D – None of the above

10 – Can a design patent and a utility patent protect the same article?
A – Yes

B – No

11 & 12.
Inventor X derives an invention A from invention B by inventor Y.  Inventor Y has maintained invention B as a secret and did not file a patent application on invention B.  However, inventor X learned about invention B under a confidentiality agreement with inventor Y.  Invention A would be deemed obvious in light of invention B.  

11.
Can Inventor X properly obtain a patent on invention A?

A – Yes

B – No

12 – Can an Inventor Z, who is unaware of invention B and inventor Y, obtain a patent on invention A if he/she is the sole inventor (as opposed to inventor X)?

A – Yes

B – No

13 – Substantive Office Actions that are not responded to within the three month time period cause the pending patent application to go abandoned.
A – True

B – False

14 – Which of the following patent applications can be filed in the name of the company:
A – U.S. Nonprovisional Patent Application
B – E.U. Patent Application
C – A & B
D – None of the above
15 – If person X is a co-inventor only with respect to claim 15 on a patent application including 15 claims, with respect to the USPTO person X should be: 
A – Identified as a co-inventor of the entire patent application
B – Specifically identified as a co-inventor of claim 15

C – A & B

D – None of the above

Short Answer Questions:
1.
When does the language in the preamble limit act as a claim limitation?

2.
If an Examiner seeks to reject a claim for obviousness, what must the Examiner do in the office action?

3.
Name at least three grounds that an Examiner can use as a basis for rejecting an invention as being obvious. 

4.
In an obviousness determination, does it matter if the inventor was aware of certain secret prior art?  Explain.  
5.
Can the claimed invention be broader than the supporting specification?  Explain.
6.
Can the specification be used to narrow the claimed invention?  Explain.
7.
What amount of description is necessary to support an operation of a method claim?

8.
Describe a situation in which a design patent application be used to support a utility patent application.
9.
Provide 3 examples of questions that you would ask an inventor to comply with the best mode requirement when drafting a patent application.

10.
What could happen if you include extra words in the preamble of a claim?  Explain.
11.
Is a product-by-process claim limited to the claimed process that made the product?  Explain.

12.
How will a court analyze a claim to determine if it is in means-plus-function format?  Explain.

13.
What type of structure do you need in a software patent application to support means-plus-function claims?  Explain.
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